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Po = Xo- (Fr+ Z—M) + Yo Fa

dp THEM)
P : EEREZHICAAR ) -
Fro : EEER (N) P l BHEEH

. A& (F2)

Fa : BhEIET (N) (F)
M FR (N-mm) - m ) byl
X0 : ESREASERE (Xe=1) M
Yo o : BREEBHAREL (Yo=0.44) )
o REEEES (rm) s
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H(f.) D2
mi =100 kg ;
m. =200 kg } om2 \ 1
ms =300 kg !
D: =300 mm ‘
D: =150 mm H ®ms
H =200 mm ‘

C =69.3 kN ‘
Co =150 kN B
dp =277.5 mm

o =2rads(0: BEE)

@/MNETH
FEBT :Fr =mi*D:X10% @*+m:*D: X 10°* o
=100-300X10%+2%+200+150 X 10+ 2?

=240 N
EHEBETE :Fa =(mi+me+ms) X g
=(100+200+300) X 9.807
=5884.2 N
bag il M =mi g XDi+mz g X Do+(mi = D1 X 107 @*+m2* D2 X 107+ 92) X H

=100+9.807X300+200+9.807 X 150+
(100+300X10°+2%+200+150X107°+2%) X 200

=636420 N*mm
@i ETESdm
Fa 5884.2 o
(Fr+2Midp) ~ (240 + 2 x 636420/2775) _ 122 =15 0
X =1, Y =0.45 bd|
RSB R(P)AI FETE- R
Pc = X+ (Fr +M) +Y-Fa=1 -(240 + M)+ 0.45+5884.2 = 74747 N
dp 2775

Efv=1.2:=1.0BIZ0F FEESF® (Lo) A1 X108
c e 1.693%10° |5
- L~ 6 ) _1°09.0X 10U 6 _ s
L= (o x ' x 10 { L } X 107 = 9.1 X 10° fi#

. M 4. 2 X 636420 . _
Po = Xo (Fr+dp)+Yo Fa=1 (24o+ 577 E )+0.44 5884.2 = 7415.8 N

&R PR ER TREHE SR 2 RE(fs)/520.2

3
_Co _ 150X10° _ 0,

fs=5o 7415.8
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12 RRRHEH T {ERRB250250F ST H HIERE San(L) REFRER 2R L
()
m =300 kg Lo
F =1500 N
L =300 mm F
Lz =150 mm
C =69.3 kN
Co =150 kN SoEmEgN |- - - oM |
dp =277.5 mm
N =140 min”
5
@/MNET

AR Fr =F+m-g
=1500+300-9.807

=44421 N

HREH Fa =0N

Ak ‘M =FXL+m-gXL
=1500X 3004 300-9.807 X 150
=891315 N*mm

ORES
Fa _ 0 e

(Fr+2Midp) ~  (4442.1+ 2 x 89131572775) 0 =15

S X =1,Y =0.45

BREENEAEFREPIMN T E.

Po=x- (Fr+ 2] 4 v - Fa— 1- (44421 + 281315 ), 6450~ 10866 N
dp 2775

Ef=1.2:=1.0"BII0 T SBESH (Lo ) BE2.6 X 10°8E0

10 . N
me=((x><£)3>< 10° ={M}3 X 10° = 2.6 x 10° 7§z

Pc (1.2+10866)
_f
C=
@R RY )
BFREEMEMER(P)AN TETE

2 X 891315

Pt )+ 0.44 - 0 = 10866 N

Po = Xo- (Fr+%)+Yo'Fa=1 -(4442.1 +

fEA EECPRIEIE TRAT B SR 2R B k138

Co _ 150X 10°

=P = “1ose6 138
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